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QUESTION 1

Which of the following is a MAJOR task of test planning?
A. Scheduling test analysis and design tasks.

B. Initiating corrective actions.

C. Monitoring progress and test coverage.

D. Measuring and analyzing results.

Correct Answer: A

QUESTION 2

Which of the following types of defects is use case testing MOST LIKELY to uncover?

i) Defects in the process flows during real-world use of the system.

i) Defects in the interface parameters in integration testing.

iii) Integration defects caused by the interaction and interference of different components.
iv) Defects in the system as it transitions between one state and another.

B. i, iii.

C. iii, iv.

D.i,ii

Correct Answer: B

QUESTION 3

You have designed test cases to provide 100% statement and 100% decision coverage for the following fragment of
code.

if width > length then biggest_dimension = width else biggest_dimension = length end_if The following has been added
to the bottom of the code fragment above. print "Biggest dimension is " and biggest_dimension print "Width: " and width
print "Length: " and length How many more test cases are required?

A. One more test case will be required for 100 % decision coverage.

B. Two more test cases will be required for 100 % statement coverage, one of which will be used to provide 100%
decision coverage.
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C. None, existing test cases can be used.
D. One more test case will be required for 100% statement coverage.

Correct Answer: C

QUESTION 4

Which of the following is a benefit of test independence?

A. It does not require familiarity with the code.

B. It is cheaper than using developers to test their own code.
C. It avoids author bias in defining effective tests.

D. Testers are better at finding defects than developers.

Correct Answer: C

QUESTION 5

When should configuration management procedures be implemented?
A. During test planning.

B. During test analysis.

C. During test execution.

D. When evaluating exit criteria

Correct Answer: A

BHO0-004 PDF Dumps BHO0-004 Study Guide

BHO-004 Braindumps

BHO0-004 PDF Dumps | BH0-004 Study Guide | BHO-004 Braindumps

3/3


https://www.pass4itsure.com/bh0-004.html
https://www.pass4itsure.com/bh0-004.html
https://www.pass4itsure.com/bh0-004.html
http://www.tcpdf.org
https://www.pass4itsure.com/bh0-004.html
https://www.pass4itsure.com/bh0-004.html
https://www.pass4itsure.com/bh0-004.html

